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BUTEX Admission Test 2013-2014

01. R o=+ Ire ffFe I % SwHor TS & 7 =M, GT2 THS! (AT G-I GO F© I FHITo?
() 7 T (b) oS T (c) S (d) =

- * — =2.|--l - = —_ =]-I =t
wum.(d),t,_%,'r /g t, =T—t, é |
02. < s g fNT @@F =M @ T 792

(a) 3 (b) 5° (c) 6° (d) &
sy (No correct answer); F15 8 fwws #fifea ey = cpivera w1 0° |
03. «3f ufeq T FOR @fRT @-

(a) 2x10°rad/s (b) 2.2x107rad/s  (c) 1.45x107'rad/s (d) 1.6x10%rad /s
S () 3 m=2%=2%2x3600=1.45x10'4rad1’5
04. 200m A< @36 G 36km/hr =fSte 5t& 600m WY 3o Jier ST Fare F© T FAII?

e

(a) 80sec (b) 100sec (c) 120sec (d) 140sec
200+ 600
(@) ; t=5 = =80
Y (a) A T8 Sec
05. &f% et 10 FoR A 10 FoR S9E (o a0 T FIe’ A ArIEw?
(a) 100W (b) 980KW (c) 980W (d) 980J

sn: (c) ; P=mgh/ =980 W

06. “sr xifere FTfeie w393 Tifds *fere Feneq wea 7" -uft @ R [gfs?
(a) @=feT (b) FITH (c) o= (d) B [Ans: b]

07. ﬁﬁﬂmwy:%nwmwwmf%ﬁﬁﬁ?
(a) C, =3R (b) C, =5R (c) C,=3R (d) C, =5R
- . _R_ - 3 o
wrmm(a),cv_A_l_zR ~.C,=3R

08. 1T%Efea 127°C a3z 27°C SI#N@y IS 904 | 97 AHS] &2
(a) 30% (b) 25% (c) 24% (d) 28%

srane: (b) : n=1—]%=25%
1
09. (3 SIAIEl CTARTHRT 8 FIERIAE CFT U3 W1 FAR?

(a) 0° (b) —40° (c) 32° (d) 273°
Xx—32 o

e (b) 5 B/ = 5 X =40
10.* 0.3m I[P G0 I 99T (T 25W wwery o [ o0 | @3 sivgiat vo7

(a) 140.5K (b) 130.4K (c) 120K (d) 100K

srg: (a) ; E= AoT!, T=1405K
11. 3 SieEns @ e 5@ @mit? [Ans: b]

1 1
(a) c =415, (b) c= (c) c= - (d) c=p,¢,
| s |




12. o oaead v e Soay weit sy g (e R Y-y o7

(a) A (b) 323 (c) % (d) 2A

e (0) 5 2 Ax =T = Ax =%/

13. 10 S=ee 7T TS 0.15m @R 0.10m AN SREr @en 5 S1ES | 7ima @ieh Ry 9 047
(a) 6cm (b) 8cm (c) 6.5cm (d) 5.6cm
styi: () 3 F =™ +v7') " =0.06m = 6cm.

14. TR 97 Qe “1ArFm e 97 T03St @9 2mm | 93 fF @@ 1m wWoe 0.295m 03T (©FT (o) & |
TR OFF (7 (SIAI0?

(a) 5800A (b) 5896A (c) 5900A (d) 6000A
s (¢) ; DA/ = Ay; A =5900A «@arct ques @ @ WTE, Ay = 0.295mm CGrT T4 T
15. o FEeee @ gk Paeow [Pl @i wiwmr 60° ¢ 30° = R awinda afs=is ao?

(a) 1.33 (b) 1.5 (c) 1.41 (d) 2.5
. A+0d_
S1ln
T (C) ; 1= i ~J2=14142
Slll-i

16. @ ZA RAT oI cFas Ife, THEhe St A (@ @ @ A0S, St & Fad & 3= 2302

(a) F=fe (b) Rffe (c) e (d) TfS [Ans: a]
17. 9o *t=a S37wds Im € 1.01m | 8% 9% 0T 6 eate 20 0 {6 =iy 97 | *1tw @ 792

(a) 227ms™ (b) 330ms™ (c) 337ms™ (d) 343ms™

20
v v 20 Ly 6 _ -]
Wﬁﬁ.(ﬂ),ll-lz_N_ﬁ SV N 336.67 ms
1./ 101

18. N =t SIFo! AN SIS 100 ¢t I, @ *THA SFOIT (I TS (SHEE?

(a) 25dB (b) 10dB (c) 15dB (d) 20dB

styt: (d) ; B=10log100dB =20dB
19. Sfeeard) =t Gile Sitaa CFid G1HS CFiad AAB AT @A{6? [Ans: a]

1, Mol 2p,I i,

(@) 2ma (b) 4ma ©) Ta @) na
20.* T S@AT ST e @ 0° C SegEE *tHg QU 2.5 99 XA?

(a) 1000°C (b) 1433.25°C (c) 1500°C (d) 500°C

T (b) ;|2 =2=25 -~T,=25T, -~T,=143325C
T -V 2 1 2
1 1

21. 35, ofeR a-itag cwm o Swae? [Ans: c]
(a) AR (b) =¥ =ifsrray (c) WAy (d)asb

22.% G FPRREICEE T TN SIEoE 10V R OTR TR 4A | O TR SIEoE 20V A TS 87 97
(a) 1A (b) 1.5A (c) 2A (d) 2.5A

e () ; P =P, =>10x4=20x1i, ..i,=2A

HUER [ - |

IS ST TNy e




? ' & 21X 3 ANIY

ol 200V A oS S I-

]

23. 16 saw ofes cw@ 50cm FIYITT SRES T

- -1
(a) 850Vin™' (b) 1000Vm™* (c) 800Vm ™ (d) 400Vm
V \Y%
.(d): E=—=400—
g (d) 5 E 3 o

24, G o Rge (FrEd IEE 1SS! 20m | o GTETS O (@& AT SR BRI @Ued TAT At «fp

0.5MW e eety Fara? [g=10ms™ ] 4
(a) 25x10%kg (b) 25x10kg (c) 25x10°kg (d) 25x10%*kg

Pt
iy (a) ; mgh =Pt; m =E=2500kg

25. GF6 p—n ST T 400mA Bt 21Ed ARRSET T OF 42 et 0.1V Ko7 #irdeers «ifees a

3T (@14 97
(a) 0.25Q2 (b) 0.3Q2 (c) 0.15Q (d) 0.35Q2
Av 0.1
‘(a); R=—=—-+=0.250
AN () =04

2. o TR - o e ST XIReTS Feiisfe e R ~AR R st T2
(a) 5.12x10°eV (b) 5.12x10™“eV () 5.12x10°] (d) 5.12x107*J

smig: (2) ; E=me® =5.12x10°ev
27. a6 FEFAT W0 T FRoTS FAleT @F 5auH g BT SR qe-gorie J0I?

(a) 2x10°ms™ (b) 2.8x10°ms™ (c) 3x10°ms™ (d) 1.8x10°ms™
2 2
FgE: (b) ; L= 1—%:‘» 1—-V—=l- :»v:Zﬁxc:Z.Sle{]Ems*‘
L, c ¢’ 3
28. 176 coulEFy Giifere *mitda ey 4d , AMidvT 7 T o7
(a) 0.1344/d (b) 0.1123/d (c) 0.152/d (d) 0.17325/d

T (d) 5 A= (1;2) =0.17325 day™

|

2
29. 3T 100MeV & e T T2

(a) 2.41x10%Hz (b) 421x10%Hz (c) 6.41x10%Hz (d) 8.78x107 Hz
sy (a) ;hf =100 Mev  ..f =2.415x10% Hz

30. TR SRS RETts 9 612

(a) TSt (b) TA=Tet (c) IFBTArS! (d) Frearer [Ans: b]
31. foye et ST o (Site IIRS 27 [Ans: b]

(a) =ifeifemiza (b) AFFTIRET (c) “fFeeiififer  (d) «f&ferze smtnss @rizs
32. M FRIHHAELS Ce?

(@) Ti (b) V (c) Cr (d) Co [Ans: d]
33. Rem afm cirenfafo +o2

(a) 1.16M (b) 5.56M (c) 18.36M (d) 55.56M

sttt (d); = E‘z’: - 100{1]!11:1:1:}13 =55.556 M [1000 gram water possesses 1 litre of volume]




- ). Sty {.
@
34. 0.025M OH &3 pH @Hfb?

(a) 1.60 (b) 3.69 (c) 10.31 (d) 12.40
sqty: (d) ; pH =14—pOH =14+10og(OH™) =12.4

35, 29°C wtw@® 95KPa it 0.25m® =ixdGicer ¢ 80Kpa witet 0.38m’ Sf¥wer Im’ SRS A%
FieE o 2 | TS e s 35S

(a) 40.44KPa (b) 49.15KPa (c) 54.15KPa (d) 58.22KPa

sy (c) ; P = BVi+ RV, _ 54.15 kPa
16, qff @IRTE ARTRE o7 35.5 T o@ @fem C1° g CF @3 S T 07

(a) 1:2 (b) 2:1 (c) 3:1 (d) 1:3

FiHiA: (C) ; 35x+37=35.5, x=3 ..ratio=3:1

x+1

37. To-mebe aftes g @ T9?

(a) +2.24° (b) —2.24° (c) +22.4° (d) —22.4° [Ans: a]
38. AT @1 T SHATE SRR (2

(a) K,[Fe(CN),] (b) K,FeO, (c) Fe,O (d) Fe(CO);

syt (d) ;3 Fe(CO); @ Fe=0

39 T G AEUIIED S SER wiee gaod [ @ Mo TG A e o6 3 AT FE?
(@) 5 (b) 6.02x10% (c) (6.02x10%)/5  (d) 5% 6.02x10%
start: (d) ; MnOj +5¢” +8H" =Mn"" +4H,0 .5molee” =5x6.023x10> .

40.* B3 8 (@ Ea @t gt 30%(w/ W) DR 4T | BejRemd (e TR T©7

(a) 0.90 (b) 0.11 (c) 0.72 (d) 0.33
saig: (d) ; @I ques 9 DT i (w3 ol GUel FeRIE B NI OfieT I | (NIE SRR 4R
30

ans —0.267 =@ | g simply 30 & 92 famw =t ™ male=§5=0.326==0.33 | @GS

ques incomplete ZETs 4 FRFIR ans I A | (e @it SLRIT) |
A1 capRrare et 5o 0.0422A Re Thr TR &3S T T FCATS 0.0275g Cifimis Afes =T |

RIS ST B 992
(a) +2 (b) +3 (c) +4 (d) +5
A4[: (b) ; W———::»e:EEﬁ?:
eF WEF
42. CH,(NO,), wa Fft S=Eiw e 27
(a) 2 (b) 3 (c) 4 (d) 5

s (b) ; ortho + meta + para J™I
43. 11g CO, 9 7> A WICR?

(a) 6.023x10% (b) 5.52x10% (c) 1.5x10% (d) 1.67x10%

A (C) 5 =Y =;—:~L:¢Nh =1.506x10% 5 |

R | 0 | EEEECTETTTTITNE




BUTEX SIs ) W&
FATS FAE I {4 Lot T?

44. FgE @maIeE 0.1 e 1.0 GGG
(a) 1‘«.],5"1(:1[--1_,‘0:1 (b) NH,NO, (c) CuSO, (d) AlICl,
st (b) 3 NH,NO, +H,0=NH, +H,0+ HNO,

AICI, =ifite =P Rofee =) CuSO, = NaC,H,0, @3 NaOH >CH,COOH <t srrs

basic solution *ns T | .-, NH,NO, % 5% T&a
45. 25g CaCO, = SFSIA TGS 0 T© GO R NS T

(a) 2.5g (b) 10g (c) 14g _ (d) 25g
sy (c) ; W (Ca0) in CaCO, = Cf(a:?)J x W, = '1%661’" 25=14g
46.* Fw @R e Ryt [RfEE wmm g ewiza? [Ans: ¢]
(a) -4 (b) 1) —TBT-LAMA
(c) HNO,— =if% (d) TIZ 23 TAR-SIRTE
47. 1°,2°.3° wieaReEd FHesda ¢ g9 =87 [Ans: b]
(a) 2,4-DNPH (b) Lucas reagent (c) Tollen's reagent  (d) Fehling solution
48.* FrFmE v a Al,O, - [Ans: d]
(a) 78% (b) 85% (c) 88% (d) 98%
49. 22g C,H, wens@ CO, ¢ H,0 o 7t 3@ Gl O, arer?
(a) 0.050 (b) 0.15 (¢) 0.25 (d) 0.50
sy (c) ; CH, +50, =3C0O, +4H,0
1 mole 5 mole
zimnle 0.25 mole
50. CIRICE WEBIA TS (AT THI S (I 49T AT (STl H? [Ans: a]
(a) Zn (b) Hg (c) Pb (d) Mn
51. < swErEw @aeee (CaCl,.2H,0) #g o wifae?
(a) 66.67 (b) 32.4 (c) 24.51 (d) 12.26
TR: () ; % H,0=——221°  _ 94499
2x18+71+40
52.* rzaae giie ey Rt Jage 7
() °'1 (b) 1 () 1 (d) "1 [Ans: a]
53, feTamIze OF ATTe-
(2) Fe,0,, H,0 (b) 2Fe,0,,3H,0  (c) Cu,S (d) PbS [Ans: b]
54. @@ Peow 70 951 (Joules) & FHT AR 45 TE Sief (IET A0 32T TOEA *{fET fF oREET A7
(a) 115] (b) —25] (c) 257 (d) —115J

g (b) ; dU =(—dW)+(dQ) =—(70)+(45)=-25]
55. TEFres @t R Foed @R 93ge 27
(a) Sn/HCI (b) w7y AlCl, (c) Cone. HNO, (d) Na/HCI [Ans: b}

gl e §




56. 1 carer sffme CH,COOH & NaOH %t & e e\ St I F7

(@) -57.3 KJ (b) -57.34 kJ (c) -57.28 kJ (d) -55.14 kJ [Ans: d]
57. 1 cE @il v TS A O, STe?
(a) 1 (b) 2 (©)3 (d) 4

sig: blank ; ans =2.5 mole; C,H, +§01 =2C0, +H,0 but 3T T ans =3 mole (c)

58. PCl(g) == PCl,(g)+Cl,(g); Rfzufes 25°C wrmm@m Kp &7 T 1.78atm , 9 SR Ko
G T F?
(a) 72.75%10 molL! (b) 82.75x10molL>! (c) 72.75x10™ molL" (d) 82.75%10°molL"
s () ; K (RT)' =Kp .. Kc=71.45%x10" M; option (a) F=iFifz I right.

59. OF (I ERGEAS B (FIF0 Q&1 &I T 7 [Ans: ]
(a) O SO (b) 9% =¥ (c) 9% TS (d) 9T 1%
60. FafERe el @Htte Ff-o1d faeas Sit=?
(a) C,H, (b) C,H, (c) C,H, (d) C,H,
H

|
s (b) ; (H,C=C—C=CH = C,H,)

61.* A e B 92t S @i 26 @0 757
(a) ANB=A (b) AUB=A (c) AUB=B (d) A—-B=A

sy (d); A ¢ Bofe . AnB=¢and A-B=A, B-A=B @

62. "C,="C, 2, "C; ="

(a) 64 (b) 56 (c) 48 (d) 98
soryr: (b) ; n—2=6 ..n=8  ..8. =56

63. (x+x7")"° fgfere v 7W-
(a) 521 (b) 522 (c) 252 (d) -252

Tt (¢) ; T, = '°C, x°xx =252

64. T SHENST 6 G IF W | o F© &I BT 9Fe A G4 TECE gt Fwe =7
(a) 720 (b) 120 (c) 63 (d) 60
At: (c) ; 2° —1=63 ©IF |

65. 2x*+2x—k =0 if#f5 ofasf g TUT k @9 -

2 2 -2 1
@ 3 ® 5 © = @ -

TgE: (d); D=0=>4+8k=0 .'.k=?




) @ 3 3T
66. tm2x1m1x=lﬁﬁxﬂﬂﬁﬁmﬁmmamﬂﬁﬂ‘ﬂﬁ? ,
7m Snm 13t 15¢ . 8t 9n (d) 1_3‘_”_:,.1_1E
@ 5% ®) =76 (©) % 6 ' 6

w14t () ; using calculator for checking options.
67. cos0=—1 T AR YR T2

(a) 0 (b) 2nn (c) 2n+D)rn (d) nm
s (€) 3 cosO=—1 . O=T, 3Mpccics vereunens ,(2n+1)m

68. o W T T WY [Ans: d]
(a) sinx =sin(2nw+X) (b) sin(sin” x) =

(¢) sin: X = (—sin };): (d) ,‘EiiI'l'-I X= (sin x)"

69. sin~' x OF TN TR-

- 1 il K: et X -1 2 -] 1
cot™ cot™ - ¢) cot™ V1—x (d) cot
(a) " (b) T (c) —
1
. |-x* *
e (2) ; sin'x =cot™ \
X
1-x*

70. cos]98 +sin432° +tan168° +tan12° @F WT T2
]
()0 (b) -1 (c) 1 (d) 7
==141: (@) ; using calculator
71. x wTFa T eEe P R zee (0,2) 9w (6,4) R 720 sl =67 P @3 JAiE $97
(a) (2,0) (b) (3,0) (c) (5,0) (d) (4,0)
sanam: (d) ; P=(a,0); a’+4=(6—a)" +4°
solving a =4 (or use distance formula for every options.)

72. y—\f:’;+1=0 q7 3y —x+3=0 @ @7 TSt PHI-

(a) 45° (b) 30° (c) 60° (d) 80°
1
AFIYI: (b); ¢=tan—1 ml mz _tan-l JE_TE _30&
l+mm,| ~ 1+1 |

73. ¥y =4x GRTAER T4 e =Mt v 7792

ST: (C) : -

DT = a0




74, (x—3)+(y—3) =4 o @ AT A(4,]) qw B(2,1) g qf fr oew foo it vk wfge?
(a) A ¢ B ¥R oot (b) A ¢ B Ters A=
(c) A 5o ¢ B X (d) A Tfzm e B o=
syna: () ; A(4,1) = (4-3)2+(1-3)2—-4=1>0
B(21) = (2-3)2+(1-3)2-4=1>0 - 3t 5 307 27 "7 |
75.  25x2 +16y* =400 Toiguia S wew ndy 797

7 32 5 30
o b) — c) — d) —
@ 35 ® © = @ =
2
sa: (b) - LL'=;P—— =§5'—2- unit. Here, b2 =16; a*=25,a=5
a
d P 4 2
\1_1_}":10!_!:(_ -¥—=1
b= a° 16 25
76. lim>2X 9
x—»{ X
|
(a) 1 (b) 0 (c) -1 (d) 5

lim cosx*.2x

Fg: (b) ; use LH; y = =(cos0)*2x0=0

x—>0 1
Alternate: lim 32X = lim *32% = Jimx x lim 22X = 0x 1 =0
x—0 X x—=0 X x—0 x—0 X
|
77. dx =7
I\/I-xz
T ] m
K = d) —
@) - (b) | © @ 7
T=4: (a) ; ques ¥ limit missing, Limit 0 @ 1 40 fIte Ans:g
dx
78. qq qifere F-
Ii!l—ﬁx
—(1—6x)3 —(1-—6%)3 —(1-6x)3 d) —(1-6x%)2
@ -7(-6x)° () 5(1-6%) (©) 5(1-6x) (@) ~(1-6x)
AYE: (a) 5 ] = (1_5;{)% xl——l(l-ﬁx)%
T2 6 4
3
79. tan”(secx +tanx) FRMGT WEAF FO7
] . x>
a) — b) -1 c) —28InXx d
® ; (b) © @ =

4 {“ )‘\
: 1+cog ——x
TA: (a) }'=tﬂﬂ"l(smx+1] = tan™ - =tan™ &
COSX e (r x T X
sm[——x] 251[1[———]00{———]
\ 2 J \, 4 2 4 2 y
=f_ﬂn'—1 CQ{E'—E) =tﬂﬂ_ltan ﬂ:'—ﬂ:'l‘x . = TE_
42 2 47°2) 777




83.

85.

86.*

(a) 30° (b) 45° (c) 60° (d) 90°
sty (d) ; Pythagorean triple : 2° + (\E) =32 . p,Lp ;s

2 2 2
Another solution : cnsﬁ:R —P-Q = 9_5_4_=0 :.0=90°
2PQ 2x2xA/5

. a3 &F 10m/sec Q@U T, BT O ATT @I AT 10sec @ NS CNRE 2T IS 7o T 300

ATeiReT?
(a) 400m (b) 390m (c) 380m (d) 280m
ser: (b): h=—10x10+%x9.8x101 ~h=390m

TSNS SE ATEl FETD T Wode T ofFe @ 37

(a) 15° (b) 30° (c) 45° (d) 60°

R, 1

F¢E: (@) ; R'= sin2c1=—£ Soo=15

20 forE A 225 &G guq 2 AB @36 a7 7«3 12 it 7 s Shiw w1fde | 75 @l e
G5 (T AT 4T A AT Z© o YLd Wieite e 7'oq $o bitela sieire 3:2 2@ |

(ﬂ) ey (b) 4 oT 3P=180 2P=120
(c) 6 fom (d) 8 fir A 1
A () ; M, =0; G5 o1 = (225 + 75)kg-wt A x ] l B

- T5% +225%10 =120x20 *.x =2m P o3

@A e 72 7@ 120° e feratiier | qren foa W 10N 9R Sitne “Tores 90 e STl Sea

(a) 4N (b) 5N (c) 6N (d) 8N

A4 (b) ; P+ Qcosa=0 . R

P =-Qcoso.=~-10cos120’

P=5 N Ly

(13.625),, 497 e At 3o?

(a) (1101.101), (b) (110.1101), (c) (11011.01), (d) (11.01101),

Ty (a) ; use calculator for decimal part (13),, =(l 101), ; (0.625),, = (0.10]), (==)
(Option 47 1st Bte 1101 KWy

R | ¢ |



' o] 8 FHILE
BUTEX &HIR? \':1 P l}'i

87. A @3 B 9 (I NG TN A FGIUS! % AR %,WWWWWWW?

| ] 7 I
LA B _ d) —
@ ®) 33 © = @
1 1 1 1 1
sy (d) s P=—+——-—-X—=—
@ F=3%373"372 |
g8, x20.y20,x+y<7, 2x+5y <20 *TE AT z =3x +4y 97 TS T FO7
(a) 21 (b) 22 (c) 23 (d) 24

sryE: (€) @ solving =(5,2). Z =3x5+4x2=23
0. 100¥2 NIt CIFIE WIW 60 DR @Iz 100 IS WA HAE W 30 B =, 9% UfE 1200 G
ToLTE! T2 TR AT s+ 141 (i @ags Witk 13yl 74%@ 3000 T |
(a) 500 (b) 1000 (c) 1500 (d) 2000
=g (b) 3 0.6x+0.3y <1200; x+y <3000; Solving, x = 1000, y = 2000
90. 1 o e 12 MUF~ 07 TS CF (TT FINSTT BT F57

] l l 1
(a) 5 (b) 3 (c) 2 (d) 5
11 1

sy (c) 3 P 552

01. The verb of the word "short" 1s- [Ans: b]
(a) enshort (b) shorten (c) shorted (d) shorting

92. Choose the correct spelling. [Ans: a]
(a) ascertain (b) assertain (c) aseratin (d) ascartain

93. What is the noun form of the word "spontaneous™? [Ans: a]
(a) spontaneity (b) spontanity (c) spontaniety (d) spontaneousless

94. If you had started earlier, you the train.
(a) would not missed (b) had not miss (c) had not missed (d) would not miss
sm4: (d); (actually 'would have not missed’) / woudn't have missed.

95. The correct synonym of "indignation" 1s- [Ans: b]
(a) humiliation (b) anger (c) lacking dignity (d) peace

96. Who is the father of English novels? [Ans: b]
(a) G.B. Show (b) Daniel Defoe (c) R.L. Stevenson  (d) Shakespeare

97. Misanthropist means-
(a) One who loves ladies (b) A person of narrow views
(c) A hater of mankind (d) One who believe that God is in everything
#q14: () ; (misanthropist = who hates humankind)

98. The opposite of 'fascinated' is- | [Ans: c]
(a) distressed (b) disapponted (c) disgusted (d) disinterested

99. A person claiming to be superior in culture and intellect to others-
(a) highbrow (b) elite (c) aristocrat (d) intellectual
s (a); (Highbrow =cultured/ intellectual person)

100. Which one is the correct passive form, Everyone knows his name? [Ans: d]
(a) His name is known by everyone (b) His name is known with everyone
(c) His name is known for everyone (d) His name 1s known to everyonc

N |



